BC Calculus

Chapter 6 and 7 Review
No calculator unless the problem says “calc”,
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BC Calculus
Chapter 6 and 7 Review

4. What is the order of integration techniques one should try when approached with an
integration problem?
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Let g(x)= I: J(©)dt, where a < x <b. The figure above shows the graph of g on [a,5]. Which of
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| 2) What is the average (mean) value of 3¢ =12 over the interval ~1<£<27? GLq BC 3%
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20) x 0 1
f(x) 2 4
f'(x) 6 -3
g(x) —4 3
g'(x) 2 -1

The table above gives values of f, f', g and g' for selected values of x. If
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The function f is continuous on the closed interval [2,14] and has
values as shown in the table above. Using the subintervals [2,5], [5,10],

and [10,14], what is the approximation of _[ 214 Sf(x)dx found by using a
ri@t Riemann sum?
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28) If a trapezoidal sum overapproximates .[0 f(x)dx, and aright

4
Riemann sum underapproximates Io £ (x)dx, which of the following

could be the graph of y=f(x) ?
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z% If three equal subdivisions of [—4 2] are used, what is the trapezoidal approximation of
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30) Let y= f(x) be the solution to the differential equation g =x+y with 20063 B

the initial condition f(1)=2. What is the approximation for f(2) if 5
Euler’s method is used, starting at x =1 with a step size of 0.5?
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?)@ The number of bacteria in a culture is growing at a rate of 3, 0002/ per unit of time 7. At =0, 1973 B¢
' the number of bacteria present was 7,500. Find the number present at £ =35 19
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time, ¢, is directly proportional to the square root of the volume. Which 2
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5‘7) The number of moose in a national park is modeled by the function 2053 B
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Which of the following differential equations for a population P could model the
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6. Consider the differential equation % = (3 - ¥)eos x. Let y = f(x} be the particular sohution 1o the differential
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point (D, 1).
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equation with the initial condition f(0) = 1. The function f is defined for all real numbers.
{a) A portion of the slope field of the differential equation is given below. Sketch the solution curve theough the
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2 (b) Write an equation for the line tangent 10 the solution curve in part (a) at the point (0 l) Use the equauon%

approximate f{0.2).

lp (c) Find y = f(x), the panticular solution to the differential equation with the initial condition f(0) = 1.
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